PHY |17 HS2024

Week 6, Lecture 2

Oct. 23rd, 2024
Prof. Ben Kilminster
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If the objects reaches a constant velocity (terminal velocity), gravity is still doing work on the
object.

If the objects reaches a constant velocity (terminal velocity), there is no net work on the object.

Question

Total energy is conserved Which is true about inelastic collisions?

Momentum of the whole system is conserved
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When torque is zero, angular momentum is zero.

Question

Which direction does a spinning object precess.

In the direction of the angular momentum of the spinning object.

mg

(a) The handle allows the
disk to spin around its axis
and around the pivot.

(d) Torque T perpendicular
to angular momentum L, will
only change its direction.
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